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EXE 6 H30H 8H27H 11878
R AR R 15:45 11:00 15:30
X5 Eh Eh Eh
=m[°C] 29.0 28.0 11.0
KR[C] 19.0 19.0 10.0
7 ILFE JLIKER[meg/1] 0.00053k &

#37K R [mg/1] 0.0005% & 0.0005% ;i 0.0005% ;i
ALY L[meg/1] 0.001k % 0.001k % 0.001k %
$Ime/I] 0.005k & 0.005k i 0.0053k &
A0 L[me/1] 0.02k % 0.02k % 0.02k %
MERVEFDILE Y me/I] 0.01Ki% 0.01k 0.01k
27 [me/] 0.1k ik 0.1k ik (RES
PCB[mg/I] 0.0005% ;5 0.0005% ;5 0.0005% ;5
M)ZOoaTFL 2 [mg/l] 0.001i#H

FrSHAOTFL 2 Ime/l] 0.001%k#%

ooaaiAa[mg/l] 0.02K it

P9 iE 1k & FElme/I] 0.002k i

12—<45a0T482[me/1] 0.0043k i

11—H00TF L [me/l] 0.02K ji

L2—12—o4o00TFLoImg/ll |0.001 K

12—>H00TF L [me/l] 0.04K i

111—kJsORIT A [mg/1] 0.001ki#H

112—kysORITA[mg/I] 0.006 it

1,3—24aa7axR2[me/l] 0.002K i

F95 L [mg/I] 0.006k i

232 [me/1] 0.003k &

FAARL AT [me/I] 0.02k %

AR [mg/l] 0.01k

L [mg/l] 0.01K i

pHImg/1] 7.8 75 7.8
BOD[mg/I] 1.0k 33 1.0k
SS[me/1] 6 100 10

KiGE A S{E /o] 14 130 36
ZH[me/l] 0.4 2.2 0.6

1) [meg/I] (RES 0.2 0.1k

1B A7 [me/I] 2.6 5.1 35
COD[mg/1] 3.3 22.0 3.1
LAY HEYEImg/] [1.0KE 1.0%K % 1.0%K %
BIFEBREme/] 9.4 ] .

i) L & Wme/I] 0.1k

Jx/—)L¥8[mg/I] 0.5k

$Alme/1] 0.05k &

B $i[me/1] 0.03k %

SRR Ime/1] (RES

BRI A [mg/1] 0.02k %

48 L [mg/I] 0.02k %

TvEmg/I] 0.2k i

14—SF Y 0.05% %

EBILE=ZJLE/T— 0.002%K %

XOWThOBRLEEITHELTEYET .
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FEH 58308 78188
R EUS P LR i
% BR B 9:30 10:10
X= Eh =Y
SUE[°C] 26.0 24.0
K& [°C] 16.0 17.0
FE1E |7 ILFILKER[me/1] 0.00053k & 0.00053k i
F 1[5k R [meg/1] 0.0005% & 0.0005% &
F1E[HRZY Llmg/1] 0.001k % 0.001k %
13 [$almeg/1] 0.0053k & 0.005k i
F1[A|AE~ D0 Llmeg/1] 0.02k % 0.02k &
F1A|MERVZDIEEDIme/1] 0.01k 0.01k
FE1[\E|2 7 Ime/l] 0.13K & 0.1k
4 1[a]|PCB[mg/I] 0.0005 ;i 0.0005k ji#
F1[E|k)roaTFLImg/I] 0.001k 5 0.001K i
F1E|[Fr500TFL 2 [me/1] 0.001k % 0.001k %
F1E[CHoa A8 [me/l] 0.002% 0.002%
4 1[@]|miE 1L &k R me/1] 0.0002% & 0.0002% &
F1[@1,2—>408T48 [me/1] 0.0004% & 0.0004% &
F1[@11— 00T FL 2 [me/l] 0.002k i 0.002k i
F1[E|r—12—oy0aTFLome/1 |0.001FK i 0.001k %
F1[E|11,1—r)a0T 8 [mg/1] 0.001k % 0.001% %
F1[E|1,1,2—r)00T8[mg/1] 0.0006k & 0.0006 %k &
F1@1,3—sna7aR[me/l] 0.0002% & 0.0002% &
F1[E|F 95 Llme/] 0.0006 %k & 0.0006 % &
FE1E [ <o [me/l] 0.0003k i 0.0003k i
FE1[\E|FARL AL T mg/I] 0.002k i 0.002k &
F1[ER B [me/l] 0.001K & 0.001k %
F1E|+EL2Img/1] 0.01 K& 0.01k %
#h T K
REH 685158 78278 8H29H
R EUS P LR ik LR ik LR ik
% B B R 15:00 15:15 14:45 15:15 10:30 10:50
X& g g 5N 5N 5N 5N
EBIEYAA 2 [me/l] 3.1 2.8 3.0 3.0 25 29
BESUGEZR[mS/m] 6.8 18 7.9 16.0 8.1 19.0
FAAxL FheTEQ/] [

REH 98148 108198 11A7H
REUS AT LR TR LR TR LR TR
T B 13:45 14:00 9:45 10:00 16:00 15:00
x5 g g g Eh Eh Eh
EBIEYAA 2 [me/l] 29 2.7 41 3.2 32 3.1
BESIGEZR[mS/m] 19.0 16.0 18.0
FAF X Flpe-TEQ/I] _ 0.110

XOWThOBRLEEITHELTEYET .



